



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/16/2026
 Entered By: Gladys Mejia
 Sales Order: 103301
 Sidemark: FFI - YORK NE
 Ship Via: PU

Ship Date: 01/31/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO: FAIRFIELD INN - YORK NE
 4032 S GRAND AVE
 YORK, NE 68467-1052

Account: Phone: (217) 866-1307
 Fax: Contact:

Item	Qty	UM	Stock No.	Description	Unit	Extended
1	20	EA		SPECIAL STATIONARY PANELS - LIGHT FILTERING STATIONARY PANELS		12.8000 256.00
				Room Location: 1ST FL SIDE PANELS Room Type: GUEST ROOM Header Type: RIPPLEFOLD Fullness: 100% Draw / Stack: RIGHT STACK Rod Size: 18 Panel Length: 106 Fabric Pattern: WIRED TEXTURE Fabric Color: 2 Fabric Width: 118 Top Hem: 1 1/2 Bottom Hem: 0 1/2 Side Hem: 1 1/2 Return Length: 7 Fabric Yards Required: 35 Comments: FABRIC LEAD TIME 12-14 WEEKS		
2	20	EA		SPECIAL STATIONARY PANELS - TRACK STATIONARY PANELS		30.9000 618.00
				Room Location: 1ST FL SIDE PANELS Room Type: GUEST ROOM Header Type: RIPPLEFOLD Fullness: 100% Draw / Stack: RIGHT STACK Mount Type: CEILING Product Inclusion - Bracket(s):CEILING BRACKETS Rod Size: 18 Panel Length: 106 Return Length: 7 Comments: FABRIC LEAD TIME 12-14 WEEKS		
3	132	EA		SPECIAL STATIONARY PANELS - LIGHT FILTERING STATIONARY PANELS		12.8000 1,689.60
				Room Location: UPPER FL SIDE PANELS Room Type: GUEST ROOM Header Type: RIPPLEFOLD Fullness: 100% Draw / Stack: RIGHT STACK Rod Size: 18 Panel Length: 96 Fabric Pattern: WIRED TEXTURE Fabric Color: 2 Fabric Width: 118 Top Hem: 1 1/2 Bottom Hem: 0 1/2 Side Hem: 1 1/2 Return Length: 7 Fabric Yards Required:241 1/2 Comments: FABRIC LEAD TIME 12-14 WEEKS		

Purchase Order 13695

ORIGINAL

01/16/2026 3:57 PM



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/16/2026
 Entered By: Gladys Mejia
 Sales Order: 103301
 Sidemark: FFI - YORK NE
 Ship Via: PU

Ship Date: 01/31/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO: FAIRFIELD INN - YORK NE
 4032 S GRAND AVE
 YORK, NE 68467-1052

Account: Phone: (217) 866-1307
 Fax:
 Contact:

4	132 EA SPECIAL STATIONARY PANELS - TRACK	30.9000	4,078.80
STATIONARY PANELS			
Room Location:	UPPER FL SIDE PANELS		
Room Type:	GUEST ROOM		
Header Type:	RIPPLEFOLD		
Fullness:	100%		
Draw / Stack:	RIGHT STACK		
Mount Type:	CEILING		
Product Inclusion - Bracket(s):	CEILING BRACKETS		
Rod Size:	18		
Panel Length:	96		
Return Length:	7		
Comments:	FABRIC LEAD TIME 12-14 WEEKS		
5	10 EA SPECIAL DRAPERY - BLACKOUT	48.9000	489.00
TRAVERSING PANELS			
Room Location:	1ST FL DRAPE		
Room Type:	GUEST ROOM		
Header Type:	RIPPLEFOLD		
Fullness:	100%		
Draw Type:	BATON		
Control / Product Width:	91		
Control / Product Length:	85		
Fabric Pattern:	SCHMIDT		
Fabric Color:	FAWN		
Fabric Cost Per Yard \$:	10 1/2		
Fabric Width:	110		
Top Hem:	1 1/2		
Bottom Hem:	0 1/2		
Side Hem:	1 1/2		
Return Length:	3 1/2		
Stiffeners:	YES		
Shot Tape:	YES		
Fabric Yards Required:	72 1/2		
6	10 EA SPECIAL DRAPERY - TRACK	92.9000	929.00
TRAVERSING PANELS			
Room Location:	1ST FL DRAPE		
Room Type:	GUEST ROOM		
Header Type:	RIPPLEFOLD		
Fullness:	100%		
Draw Type:	BATON		
Mount Type:	CEILING		
Product Inclusion - Baton(s):	48" WHITE FIBERGLASS		
Product Inclusion - Bracket(s):	CEILING BRACKETS		
Control / Product Width:	91		
Control / Product Length:	85		
Track Type:	RIPPLEFOLD		
Bracket Total:	4		



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Phone: (702) 842-4044

Date Ordered: 01/16/2026
 Entered By: Gladys Mejia
 Sales Order: 103301
 Sidemark: FFI - YORK NE
 Ship Via: PU



SUPPLIER: 103

RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

7 61 EA SPECIAL DRAPERY - BLACKOUT

48.9000 2,982.90

TRAVERSING PANELS

Room Location: UPPER FL DRAPE
 Room Type: GUEST ROOM
 Header Type: RIPPLEFOLD
 Fullness: 100%
 Draw Type: BATON
 Control / Product Width: 91
 Control / Product Length: 77
 Fabric Pattern: SCHMIDT
 Fabric Color: FAWN
 Fabric Cost Per Yard \$: 10 1/2
 Fabric Width: 110
 Top Hem: 1 1/2
 Bottom Hem: 0 1/2
 Side Hem: 1 1/2
 Return Length: 3 1/2
 Stiffeners: YES
 Shot Tape: YES
 Fabric Yards Required: 464

8 61 EA SPECIAL DRAPERY - TRACK

92.9000 5,666.90

TRAVERSING PANELS

Room Location: UPPER FL DRAPE
 Room Type: GUEST ROOM
 Header Type: RIPPLEFOLD
 Fullness: 100%
 Draw Type: BATON
 Mount Type: CEILING
 Product Inclusion - Baton(s): 36" WHITE FIBERGLASS
 Product Inclusion - Bracket(s): CEILING BRACKETS
 Control / Product Width: 91
 Control / Product Length: 77
 Track Type: RIPPLEFOLD
 Bracket Total: 4

9 5 EA SPECIAL DRAPERY - BLACKOUT

48.9000 244.50

TRAVERSING PANELS

Room Location: UPPER FL ADA DRAPE
 Room Type: GUEST ROOM
 Header Type: RIPPLEFOLD
 Fullness: 100%
 Draw Type: BATON
 Control / Product Width: 91
 Control / Product Length: 77
 Fabric Pattern: SCHMIDT
 Fabric Color: FAWN
 Fabric Cost Per Yard \$: 10 1/2
 Fabric Width: 110
 Top Hem: 1 1/2
 Bottom Hem: 0 1/2
 Side Hem: 1 1/2
 Return Length: 3 1/2
 Stiffeners: YES
 Shot Tape: YES
 Fabric Yards Required: 36 1/4

SHIP TO:

FAIRFIELD INN - YORK NE
 4032 S GRAND AVE
 YORK, NE 68467-1052

Account:

Phone: (217) 866-1307
 Fax:
 Contact:



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/16/2026
 Entered By: Gladys Mejia
 Sales Order: 103301
 Sidemark: FFI - YORK NE
 Ship Via: PU

Ship Date: 01/31/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO: FAIRFIELD INN - YORK NE
 4032 S GRAND AVE
 YORK, NE 68467-1052

Account: Phone: (217) 866-1307
 Fax: Contact:

10 5 EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS	92.9000 464.50
	Room Location: UPPER FL ADA DRAPE	
	Room Type: GUEST ROOM	
	Header Type: RIPPLEFOLD	
	Fullness: 100%	
	Draw Type: BATON	
	Mount Type: CEILING	
	Product Inclusion - Baton(s): 48" WHITE FIBERGLASS ADA LOOPED	
	Product Inclusion - Bracket(s): CEILING BRACKETS	
	Control / Product Width: 91	
	Control / Product Length: 77	
	Track Type: RIPPLEFOLD	
	Bracket Total: 4	
11 10 EA	SPECIAL ROLLER SHADE ROLLER SHADES	132.3000 1,323.00
	Room Location: 1ST FL ROLLER SHADES	
	Room Type: GUEST ROOM	
	System Type: 4" FASCIA - WHITE - W	
	Product Width: 72	
	Product Length: 72	
	Fabric Pattern: PRINTED SHEER	
	Fabric Color: RED MAPLE LEAVES	
	Control: CLUTCH	
	Chain Type: METAL - STAINLESS STEEL - STS	
	Chain Length: 43	
12 61 EA	SPECIAL ROLLER SHADE ROLLER SHADES	122.8000 7,490.80
	Room Location: UPPER FL ROLLER SHADES	
	Room Type: GUEST ROOM	
	System Type: 4" FASCIA - WHITE - W	
	Product Width: 72	
	Product Length: 60	
	Fabric Pattern: PRINTED SHEER	
	Fabric Color: RED MAPLE LEAVES	
	Control: CLUTCH	
	Chain Type: METAL - STAINLESS STEEL - STS	
	Chain Length: 43	
13 5 EA	SPECIAL ROLLER SHADE ROLLER SHADES	324.5000 1,622.50
	Room Location: UPPER FL ADA ROLLER SHADES	
	Room Type: GUEST ROOM	
	System Type: 4" FASCIA - WHITE - W	
	Product Width: 72	
	Product Length: 60	
	Fabric Pattern: PRINTED SHEER	
	Fabric Color: RED MAPLE LEAVES	
	Control: ROLLEASER MOTOR	
	RollEase Motor: 110 VOLT	



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 01/16/2026
 Entered By: Gladys Mejia
 Sales Order: 103301
 Sidemark: FFI - YORK NE
 Ship Via: PU

Ship Date: 01/31/2026



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO:
 FAIRFIELD INN - YORK NE
 4032 S GRAND AVE
 YORK, NE 68467-1052

Account:
 Phone: (217) 866-1307
 Fax:
 Contact:

14 6 EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		31.8000	190.80
	Room Location: CORRIDORS			
	Room Type: PUBLIC AREA			
	Header Type: RIPPLEFOLD			
	Fullness: 120%			
	Draw Type: BATON			
	Control / Product Width: 45			
	Control / Product Length: 94			
	Fabric Pattern: ALISON			
	Fabric Color: SLATE			
	Fabric Cost Per Yard \$: 18			
	Fabric Width: 118			
	Railroad Material: YES			
	Top Hem: 1 1/2			
	Bottom Hem: 0 1/2			
	Side Hem: 1 1/2			
	Return Length: 3 1/2			
	Bottom Treatment: CHAIN WEIGHTS - ROLLED HEM			
	Stiffeners: YES			
	Fabric Yards Required: 25 1/2			
15 6 EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		19.5000	117.00
	Room Location: CORRIDORS			
	Room Type: PUBLIC AREA			
	Header Type: RIPPLEFOLD			
	Fullness: 120%			
	Draw Type: BATON			
	Mount Type: CEILING			
	Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
	Product Inclusion - Bracket(s): CEILING BRACKETS			
	Control / Product Width: 45			
	Control / Product Length: 94			
	Track Type: RIPPLEFOLD			
	Bracket Total: 3			
16 1	SPECIAL 10% TARIFF - DUTIES FOR IMPORTATION INTO MEXICO OF C.O.M. FABRICS, BASED ON ESTIMATED COST (COULD VARY DEPENDING ON DECLARED COST)		540.0000	540.00
17 1	SPECIAL 25% TARIFF - DUTIES FOR IMPORTATION INTO USA OF NON-USCMA FINISHED GOODS. (PER PRESIDENT'S TRUMP FENTANYL TARIFF)		3720.0000	3,720.00

Terms and Conditions:

FABRIC POs

Please acknowledge receipt of order with estimated ship date within 24 hours.

All fabric to pass NFPA 701 FR

Diamante Worldwide, Inc. will request return authorizations for overages exceeding 5% of quantity ordered.

Order is to be entered in accordance with prices, delivery and specifications shown above.

Diamante Purchase Order Number must appear on all invoices, packages and correspondence.

All roll tags, internal and external packages must be labeled with our PO number, pattern and color

Shipping Terms - Prepaid & Add

Packing slip and tracking number to be provided within 24 hours or shipping

If shipping instructions are not followed, you may be subject to a chargeback.

Please email all invoices to accounting@diamanteworldwide.com

FINISHED GOOD POs

TOTAL: 32,423.30
 EFFECTIVE DISCOUNT RATE: 0.00%
 DISCOUNTED TOTAL: 32,423.30

Purchase Order 13695**ORIGINAL****01/16/2026 3:57 PM**

DIAMANTE WORLDWIDE
519 East Interstate 30
PMP 253
Rockwall, TX 75087
Phone: (800) 440-2916
Fax:

SUPPLIER: 103
RUFFO DE ALBA FORWARDER
9927 VIA DE LA AMISTAD
SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

Date Ordered: 01/16/2026
Entered By: Gladys Mejia
Sales Order: 103301
Sidemark: FFI - YORK NE
Ship Via: PU



SHIP TO: FAIRFIELD INN - YORK NE
4032 S GRAND AVE
YORK, NE 68467-1052
Account: Phone: (217) 866-1307
Fax: Contact:

Please acknowledge receipt of order with estimated ship date within 24 hours.

All sized and qtyps to be verified with measures.

Order is to be entered in accordance with prices, delivery and specifications shown above.

To provide 1 year workmanship warranty

Diamante Purchase Order Number must appear on all invoices, packages and correspondence.

All product tags, internal and external package labeling must include floor number, room number and Diamante Worldwide, Inc.

Name/Information aka Blank labeling

Packaging dims and weights must be provided 1 week prior to shipping

All loose boxes to be palletized unless receive written approval from Diamante

If shipping instructions are not followed, you may be subject to a chargeback.

Please email all invoices to accounting@diamanteworldwide.com